N AL




B L H
(_in (_in (_in (_m3
0 .40 2.71 0.30 0. 060 2
0.20 2.32 0.30 0. 0301
0 .40 2.03 0.30 0. 080 2
0.20 2.83 0.30 0. 040 1
0 .50 2.05 0.30 0. 0803
0 .50 2.05 0.30 0. 080 3
0.61| 0.53 0.02 0. 0101
0. 08l 6




N AL

2 | B B

18-8B40

06

04

24-1R-1

SD348

30

SD345 A2

36

2810

70

70




N QL.

2650 3110 200
(=]
S -9
Q) 2 [=1
B < % g g
T 8o
N
A- A BB (
5700 5700
g
]; I
g s, egma/ / Jo8 8 7 Jieis °
~ -
- -
BB C ) c-cC
5700 5700
g &
gl ® ol R A-12, 74n2
& s & _ !
S & &
5 : 5
§NQ g -

5700

5700




N Q.

A- A

B-B ()

( 1596+ 1514) / 2x

B-B ()

cC-C

( 1372+ 1247) | 2x

0.02 x 2
0.02 x 3
0 .51 x 2
0.51 x 3

( 53 + 13 ) -

.28

. 06

.28

. 06

09/ 09

500

2650 3110 200

o

|| L5
o [ =%

LT T T — g ¢ '

1

(18- 8-40BB) (24-12-15N

A- A

5700

0

0

(=3

(=

N,
/  Em

.

1420

&

Pl |

.31

.52

2V

2V

2V

09




N GB.

BB ( BB (
5700 5700
g g
I ]
sl ® / %A:lﬁ 408n2 S / %A:l& 269n2
: — —
C-C D-D
5700 5700
g 8
s - s
2 @%&3”’2/ S @%7%&
g — —
2-1 c-C
(18-8)40BB ( 12.38412.778/ 2x 0.05 = 0. (S 06
2-2
AlL= 3. 04 0. = 0. B
A= 4. 30X 0. = 0. |
2 A= 0. D nf 04
2-3 A- A
(1, =( 15.17815.84pPp/ 2x 0. 07 = 2. b
24-12-|15N B-B ()
=( 13.92612.38%p/ 2x 0.00 = 2. |
2V = 5. 5 i 5
2-4
Al = 3. 04 0. = 1. B
A= 4. 30X 0. = 1. b
2 A= 2. B nf 3
2-5
(SD34% |DWZ = 328 33




N Gt

1

2-6 [ DR O
(SD345DB29IW= = 348 38
2-7
(p2811D0| N= 19 x 2 + 16 x 2 = 70 70
2-8 D13 10
( )

N= 19 x 2 + 16 x 2 = 70 70

[100 (D13 L]=100)
W=m / 4x ( 0.82 x 0.01- 0. 8P
x 0.00) x 10 x 1.02 )x 1000
= 3.9lkg/ 100




N AL

1
As 22
As 6
1
09

09




N dL

26

2 15

X

37

0 .40

2 15.

6 3

22

09

09




N AL

03




N dL

v =0.05

X

0

. 56

03




N AL




(13) t=4

A= 2.37 + 3.61
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